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Exerase A

1. Consider A= {2°,2,.,27] . Then [Al-k ond i
K= ’_eoaL(W)+!:_J then Acn] Note olso Het A s aowt-gree
Bince ‘Hﬂe CQQJMEM"'S oé) A con loe, ’H@LBH ad ‘H«.e, mf)reacmﬁ'éions
wn vse 2 03 nombers.  We OOY\C&AQ ‘Hnojt

K(n) = 633&(“)

2. Tix a =k A={ai,,-.,al§9[m—_|. Note ot the nomber og

‘Ooss])oee WS oS fun zéZSLo')L ywith  s<k],is 2~
Nojce, a€z>o ‘HU‘L ma X _S&'Lgé K-h.
Selx] <

Tkm’,(fore, "X we wont Hut dhe zoms wre diskink we need
otk K

J $Kh
Smce, Hos \l)oomol s -Erue, ¥ A og Csrcl"lme"‘af k, we C,ovu:eule
Aok ’

ZK( )\< KW n
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Tlnexe,?ore 25> kn 4D 603 ) 2 gcgz(h>+%&(£°3a(w))+m(—+h
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Exercse >
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(A- m+ L) (A-w»+b)z 02+ (A-m)

E xexaise 2

We vse. %ore@—ém#eé& eeummd. Sek X,.-—F-zl—:‘:]_i, We have thet:
E[T.
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